
Top Leg Section
with End Caps

Bottom Leg Section
with End Caps

Foot Ring

Swivel

Flat surface on bottom Flat surface on top
3/4” Allen-Head Bolt | x5

1 3/8” Allen-Head Bolt | x4

1 3/4” Allen-Head Bolt | x4

10mm Nyloc Nut | x9

Assembly Tools*

Position Top Leg Section over �at surface of the Bottom Leg 
Section. Secure using one 3/4” Allen-Head Bolt and Nyloc Nut.

Padded Seat

* A 10mm socket will make assembly easier and faster

engineered products
ASSEMBLY INSTRUCTIONS
Counter Stool

If you have any questions pleace contact us at:

phone: 479-474-3460
email: service@traxionproducts.com

www.traxionproducts.com

Model 4-110

PARTS

ASSEMBLY



Place Foot Ring over Leg Assembly (holes in Foot Ring face 
down). Line up the Foot Ring holes with the Leg Assembly 
holes and secure with 1 3/4” Allen-Head Bolt and Nyloc 
Nuts. 

Loosely thread all of the nuts before tightening.

Rotate Swivel to expose all slotted holes as shown here. 

Insert the four 1 3/8” Allen-Head Bolts through the 
slotted holes on on the Swivel plate and then through 
the holes on the top of the Leg Assembly. Secure to Leg 
Assembly using Nyloc Nuts. 

Loosely thread all of the nuts before tightening.

Place Padded Seat with pad down and align the slotted 
holes on the other Swivel plate with the holes on the 
bottom of the Padded Seat. Secure using the four 3/4” 
Allen-Head Bolts. 

Loosely thread all of the bolts before tightening. 

Check bolts and nuts to ensure they are all tightened. 
ENJOY!


